Page 1/2

Rugge
.-‘.’#;e Part #11226.04
| 11226.05
OMIX-ADA, Inc. 11226.06
11226.07

Elite Tail llght Guard ewewreevome

Components
1. Guard @
2. Housing, LH Q)
3. Housing, RH Q)
4. #6 Screw D

5. M5 Screw 4



Page 2/2

Rugged
Rl%!_lye :

OMIX-ADA, Inc.

Elite Tail Light Guard ewe oo

1. Remove hardware from tail lights and disconnect
from vehicle wiring harness.

2. Remove rear trim piece from both tail lights.

3. Encase tail light inside Housing and Guard using

M5 Screws.
-
4. Reconnect tail light to vehicle wiring harness. \ZL
5. Secure assembly to vehicle using #6 Screws in
remaining attachment points. D D

Shop for quality Rugged Ridge products on our website.


https://www.carid.com/grill-guards.html
https://www.carid.com/rugged-ridge/

